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SN BMEED
H: =0 ot BMIDR
Sl BASISTAl JlY £4 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
EEE2A A 3,200,000 3,200
ez 29 1,000, 000& 1,000
&2 ALK A 100, 000& »2H x4 ! 800
OgMsts o20tY 16,318
LMsts 222 X4 5,000,000 5,000
S AS ¥ X H 1,000, 000& 1,000
sotel 39 K& 4,000,000 4,000
e Z2)a XA 3,000,000& 3,000
EE B2 AN M 1,000& 1,500 1,500
-2 H3 AM Folad 200,000& *1JH & 200
CAAMRIR Y X2 100, 000& *4H 400
S0 H& 60,000& *124 720
B ME 33, 000& *6H 198
E72F 14 300,000& 300
OXEEIAIE =X 30,500
SHEOE 04 L AL ¥EZRIY 2
s 20,500, 000& 20,500
Atol XtHstn 29 6,000,000 6,000
JgeZ HODles HMES 4,000,000& 4,000
OsENEa 29 7,496
A& S AFAF A H| 20,000& *4H x93] 720
M Z | 300, 000& *93] 2,700
= 24| 2,826
=R 110, 000& *33] 330
- X-8i 33,000 x4l 33| 396
-=E8= 700,000& *33| 2,100
29l 1,250
- Chotd| 150, 000& *33] 450
- 2AERY 200,000& =44 800
ogl=sstsdazd 29 (150 A) 10,000, 000& 10,000
OZMstEs0tel 843 7,000
HMSE5S0le &g 25 XN
1,000, 000& 1,000
sotel MsUs &8s 24 4,000,000 4,000
HMeES0te &8 HE 2,000,000& 2,000
02 3524t 17,990 14,038 3,952
O-MstE2 EHOIXN SXEx 3,050
AN H &bl 12,000, 0003 *8% 960
ATEIAN 19,000,000 x11% 2,090
OgMsga 22| 10,940
FolAFH 4= 1,100, 000& 1,100
20 gtz 600,000& 600
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2AN: BMstE
M. =010 &Hole BEMU=
Sl BASISTAl JlY £4 (S &2)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
22| gl 300,000& x12& 3,600
SIS 400,000& *12& 4,800
*=E= 70,000& x12& 840
OM=HMSI ST A2 3 H3lH|
2,000,000& x13] 2,000
OZ2HMDE T AASH(IAEC) & 35H|
2,000,000& x13] 2,000
203 ¥R =&Y 1,200 800 400
03 Al Z=XIH R F=XY| 1,200 800 400
OdMetgs gRFA 1,200,000& 1,200
301 dBEtE A= 12,000 6,000 6,000
09 HAIAHIBAZ 3,000 0 3,000
Od=2H-MstEerets] &I sotel X
1,500,000& x2& 3,000
11 IIEtE &2 9,000 6,000 3,000
OBMeEs 230t XNA 9,000
xR 1,500,000& =104 & 1,500
? = 1,000,000& *504 & 5,000
& 500,000& *5JH & 2,500
HESSHEH 29 22,175 0 22,175
201 et A | 22,175 0 22,175
01 AFR2t2l bl 22,175 0 22,175
OZz )y 89| 22,175,000& 22,175
ALGEFROFIHOIOl 29 28,000 22,500 5,500
201 L2 Y| 28,000 22,500 5,500
01 AR 22| bl 28,000 22,500 5,500
OAtet= oratdiol &8¢ 28,000
2 A =G 2,300,000& =103l 23,000
CEBES(2ER B HN S)ME
500,000& =102/ 5,000
ns EA € XA 1,153,191 1,063,914 89,277
201 et A | 46,180 37,180 9,000
01 A2 22| 46,060 37,060 9,000
Oistn & Nssn 5 LA 83 A 6,000
2 A= (43)) 4,000,000& 4,000
M Y E22 & 2,000,000 2,000
O==1d 29 LAY S 26,000,000& 26,000
OZF - 1&88uW A= AUIXIHE H=E 5,060
AP (0 A) 200,000& »8H 1,600
AAIE(2d) 300,000& x4H 1,200
=E2= MNE 2,000,000 2,000
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SNBSS
M oD SMsls BADS
Chel: BMEtET Al DBt =4 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
aZ M 13,0002 *204 260
Onsstn dIeEs Ml 9,000
ZAb=g 2 OIEH 5,000,000& 5,000
WKl & E=2HI 4,000,000 4,000
02 =224l 120 120 0
OstW =¥ CCTVva2d(thdx= - Thd s, TUE)
5,000 204 A %122 120
307 21201 A 100,000 50,000 50,000
05 BIZHRI & 3 100,000 50,000 50,000
OdZusiddye 29 X&  100,000,000& 100,000
308 XXM SO0l A 1,007,011 976,734 30,277
08 WEII20HStE X 1,007,011 976,734 30,277
OstugAdl X 115,000, 000& 115,000
Otz Al X2 (5 - 0w, Sardustl) o
TZ ) 530,000, 000& 530,000
OXed 38 MEXNIA(R2401)
100,000, 000& 100,000
Os& 0N (= -2 - 1) 100,000,000 100,000
ot=® g XA 96,796,000& 96,796
OZ2W=sEE ZZHE MY 22 XH
23,840,000& 23,840
OolduE 2IXNA (=S8 W) 20,000,000 20,000
OsX& gl X 21,375
10098 Ol & 525,000 *25H A 13,125
509 ~ 994 450,000 * 1074 & 4,500
49% 0l ot 375,000 100 & 3,750
FOUXXIE & 23t 78,420 85,420 A7,000
Al HI 35,040
I 43,380
FoURXE 29 XA 48,000 48,000 0
AlHl 35,040
I 12,960
201 Let24d] 46,200 46,200 0
Al HI 33,726
I 12,474
01 At 2teltl 46,200 46,200 0
OF2XXz 82 & 1,000, 000& 1,000
AlHI 730
T Hl 270
OMI=I1g SstZ=08 2% 6,000,000 6,000
Al HI 4,380
-l 1,620
Oddg F0XXs SstEz0d 29
12,000,000& 12,000
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SN BYEED
M F0ID BMGs BADS
o FOUXXS A 235
S HD B (SH) - NRAY - BAS O 4t o8 il
Al'H] 8,760
2| 3,240
OF0 XXz EgtE208 22 7,200,000 7,200
Al H] 5,256
24| 1,944
OnrsorsEJI A g 22 20,000,000& 20,000
Al H] 14,600
Tl 5,400
203 ¥R =&H| 1,400 1,400
Al H] 1,022
T4l 378
03 A =X R =XH| 1,400 1,400
OF0I XX H2AHR 1,400,000& 1,400
Al HI 1,022
24| 378
301 dEtE A= 400 400
Al H] 292
2| 108
09 HAIAH EA=S 400 400
Oz )y $Hg SHEHEAXL 24 400,000 400
Al H] 292
Tl 108
FOXXE 24 30,420 37,420
201 Bt A H| 25,220 23,220
01 AtSR 22l b 25,220 23,220
ON=ZF0XX s &I L AS 18,000
Zots A& 3| 5,000,000& *3H A 15,000
gretgl AstE | 3,000,000& 3,000
OF0 XXz T2 e¢tm3 X
7,220,000& 7,220
303 A2 5,200 5,200
01 ZAaZ 5,200 5,200
O FOXXI3 AlY 1,000
xR 500,000& *1JH & 500
R 300,000& *1JH & 300
&3 200,000& *1JH & 200
OZz )y g & MHBAEAZ AlA 4,200
X2 400,000& * 10 A x2J1 2 OF 800
P 300,000 *1JH 2«20 2 O 600
- & 100,000 x 14 A *204 2 OF 2,800
SANEs A 356,294 238,877
Nes ooe 25 356,294 238,877
A2 2Y 344,674 232,347
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M Bdstsn
B SN2 52
Sl SASE AEa 2E CERED
SA B ER(EN) - AR - BES of & o4 San HIDZ2
101 @l H] 88,584 62,637 25,947
04 JIZtNZ22XNSE+ 88,584 62,637 25,947
OXN2ZA2 2EHYR 2X 88,584
el A H| 64,1503 x4 «2502 64,150
=Xt 64,1503 »4H «52= 13,344
=Py 64,1503 »4H x12& 3,080
=32 FE= 80,572,400& *4.5% 3,626
CAUEEE RE=S 80,572,400& *1.5% 1,209
CAMEE RES 80,572,400& *0.704% 568
-=RUALBEE FHS 80,572,400 +3.035% 2,446
LRI QLEY FES
2,446,000 *6.55% 161
201 2Bt2 | 131,849 112,210 19,639
01 AtR 22l | 63,259 52,360 10,899
OX2N2 2823 18,689
HASE(YH, 22BY S)
10,0003 *1000 & =123 1,200
SAEX 20,0003 1070 2 200
EHTY(EH/Zet) 400,000& 1074 2 4,000
stEa 2 4,078
-HlF=, HESSE 10,0003 * 1004 A +12& 1,200
-SEX 250,000 » 1090 £ 2,500
-3IIEEA 8,400 *109H 2 84
-BIIMEN 8,400 =351 294
= 30,000 20 A+ 122 720
A 4,500 1000 A =128 540
SH2I| ANBE 34,9002 <87} A <128 3,351
- ME2H2BE DY (e S)
100,000& 109 & 1,000
ANRES 2 30,0003 *100H A +12& 3,600
Ox2zA2 E22 MH 3,000,000& 3,000
OBBAF 2ALY
30,000 83| x100H %12 28,800
OMNEBEHSZN2 ST ZASE
30,0002 «B2| 34 A 12 8,640
OXN2ZA2 22 /28N /ATS
4,000,000& 4,000
OMSHEAI FL(3sUR) 130,000 130
02 s3=9Hl 68,590
OXSTNE 523 400,000 x12& 101 2 48,000
O8stx 4 109,000& =109 £ 1,090
OReFH ===8 150,000 122 1000 £ 18,000
OAIZ &S Xlbl 150,000 * 109K 2 1,500
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2AN: BMstE
Ha: SN2 52
Sel: SNRE e IE 9 EE)
SAH-EB. S (3H) - HEAY - BE2 ﬁlf& HDS2
203 &R =&H| 500 500 0
03 A =X R =XH| 500 500 0
OS2 2= 500,000& 500
301 dEtE A= 56,441 0 56,441
11 IIEtE A2 56,441 0 56,441
OS2 M X3S AHAH bl &2 &t
80& x6L *26F*10YH 56,441
401 Al HI L 2 0HHI 12,300 3,000 9,300
01 A& HI 12,300 3,000 9,300
OARE A4 B 10,000,000& 10,000
OCCTV & Xl (3 3 LHS) 2,300,000 2,300
405 XHaHFE SHI 55,000 54,000 1,000
01 M =S FSHI 1,000 5,000 A 4,000
OS2 23 1,000
Slsel Mot 2¢ 1,000,000& 1,000
02 &S A7 bl 54,000 49,000 5,000
Ol =AM 5,000,000& x9JH A~ 45,000
OME X2 M2 A2EE 1,000,000& 904 A 9,000
SNEFAIE =& 11,620 6,530 5,090
201 2Bt | 11,620 6,530 5,090
01 At 22l Yl 11,620 6,530 5,090
OsSABEUE 8,620
MM 200,000& 54 1,000
Al & 4,930
- XS (1~384) 690,000& 690
- X252 (4~684) 690,000& 690
-s510sg 1,900,000& 1,900
- UBH(HSH) 2 1,650,000& 1,650
S EEZ2 ME 1,000,000& 1,000
- A E A 15,0003 =464 690
HA =F E2Z 1,000,000& 1,000
OsMg 23 1,000
SN & TAHASHA 2
100, 000& =10 £ 1,000
OsMds0tel 289 2,000
- SAMS0el 2 A 100, 000& =10 £ 1,000
- SMS0e 2435 1,000,000& 1,000
FHEES =& 916,839 501,010 415,829
= 11,172
Tl 905,667
MA2E 2 916,839 501,010 415,829
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SN BYESD
PSP HAEHES =&
ol MIPH 7 (S5 &)
S EHH B (B) - HEAY - BAS il HZS2
= TT.172
| 905,667
GHHESSHEANA ) Al 27,024 30,725 AN 3,701
= 7,147
Tl 19,877
201 et A | 27,024 30,725 N3,701
= 7,147
Tl 19,877
01 AFR22t2ld] 27,024 30,725 AN 3,701
OXgay CE&EH WA Xt
27,024,000& 27,024
= 7,147
Tl 19,877
NSEHES J|8t2 35 318,970 159, 131 159,839
201 L2 | 45,470 73,220 £27,750
01 AFR2 22l Yl 45,470 73,220 N2T7,750
OOl A A BHAL 2toldlA 2l 10,720
ANHES gl 370,000 x62 2,220
pCE i Al 17,000& *500H 8,500
Ogeg &840 ol 34,750
MS-OFF I CE 351,000& x50 17,550
st2 2014 AZEQ N 172,000& x100= 17,200
203 2 R =X | 500 500 0
03 Al =X H 2 =X Y| 500 500 0
O8Eg 2= 500,000& 500
207 AT OH 2| 37,000 0 37,000
01 A2 EsS<H| 37,000 0 37,000
ONeldse o 37,000,000& *13] 37,000
405 XHo&HF S HI 236,000 85,411 150,589
01 AL =SB F SHI 236,000 85,411 150,589
onelg 323 236,000
HEHRE 1,200,000& = 180CH 216,000
HEGRE 400,000& =50CH 20,000
HEB3lus AA 27,040 19,900 7,140
201 YEt2 | 26,540 16,400 10, 140
01 At 22l bl 26,540 16,400 10,140
O3B nNx® ZA=Y 16,800
20 HFESUE 80,000& x5 x403] 16,000
SR d2SUE 80,000& *103] 800
OB M HE Y 2HEE 8,840
A2 s WM 7,000& x28H *403] 7,840
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2AN: BMstE
PSP HAEHES =&
Sl MIRE 7 (sl &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
HdBEglns H=2E 1,000,000& 1,000
OFEXNAUSE =& 900
3 =H 2A= 80,000& 53] 400
el 2d =H 22l 500,000& 500
303 ZAZ 500 500 0
01 2o 2 500 500 0
OS2 HEBXACUS Ala 500
X2 200,000& x1H 200
-5 100,000& *3H 300
2 EHOX 29 219,849 849 219,000
201 Bt A H| 849 849 0
02 35244l 849 849 0
OZHOIX 2= MHHIA AIE
55,000& x12& 660
OEHOIX ool A= 189
- 8t=2 oIgH4u =4 99, 000& *1JH 99
A2 L S22 30,000& =34 90
207 A IR ] 184,000 0 184,000
02 & AR Y| 184,000 0 184,000
OSHOIX AlAE MHIH 184,000,000 184,000
405 XtabF S| 35,000 0 35,000
01 AL 2 EF SHI 35,000 0 35,000
OZHOIXN 2SN WX 35,000,000& 35,000
HHHBAAY 2 272,902 237,317 35,585
201 Bt H | 167,719 163,930 3,789
02 352494l 167,719 163,930 3,789
O2-Lliet & dXNZ2M AlAE S 22,124
2-Ltet JIE AZEHN
10,230,000& *10% 1,023
2-Liet AIAEAH 103,998, 000& *7% 7,280
2-Liet ool A AZTEN
50,930,000& *10% 5,093
SN ZEM AZERN 83,823,810& *7% 5,868
- SXZE QIOIEHOIA AZTERN
28,600,000& *10% 2,860
OEXNEE AMAYH RIAE=> 13,653
-EXNEE 2 A 97,322, 700& *7% 6,813
-EXNEE HOEHMOIA AZTERN
68,400,000& *10% 6,840
OZEHOIX AMAYE RXE=> 19,457
- EHOIX AAE AH 51,259, 120& *7% 3,589
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SH BMSSD
B DHELE £X
ool ANTE T (S5 &)
SA - BB B () - MM - BES Ol &t o San HmEET
TEHON @ SE=a ~EESO
105,782,390& *15% 15,868
OUERZ ZH KRANE=> 35,130
-UHERZ WE & ARAX FHI
469,946,850 *7% 32,897
CHEES S E 31,900,000 *7% 2,233
OFEES L MNABEES A28 RANES 21,548
HAHR AIAEH 38,610,000 *7% 2,703
LS 2ats Al AE 40,000,000 *7% 2,800
kst AlAE(20H) 26,224,000 *7% 1,836
PCOHCI B EE S ZMAIAE
42,700,000 *7% 2,989
CNHEZHOAIAE 29,634,000 *7% 2,075
- DBE 2 MO Al AE 27,000,000 *7% 1,890
CUERZ Z2HO AIAE
57,950,000 *7% 4,057
S &2 ot &I (UTM)
60,900, 000& »7%*9/ 128 3,198
ORQoALZI FANE=S 4,078
LoloIALZ I (30) 58,250,000 *7% 4,078
O&4ts BHEH RAE= 4,422
g2esI(20) 22,266,960 *7% 1,559
SEHM MAZTX(&AA) 17,279,000 *7% 1,210
SYNE MAFX(SaAl) 18,606,000 *7% 1,303
F=2 X001 5,000, 000& *7% 350
Osg MEMEEX RAE=
189,200, 0003 *6% 11,352
OHFYRE HeE 23|I RANE=> 31,790
PC(FE 2 SFRHH) FX22
1,000, 000& *500CH 5% 25,000
CHEZH(SFLUME) 2X2el
500, 000& *70CH *5% 1,750
PC 23 WA 120,000& 428 A *13] 5,040
O0lA HAAAE FAE S 4,165
CClAZ SHAAAE(BTB)  33,000,000% 7% 2,310
ClA3 BHIAIAEY (82 0| S 0HA,BTB)
26,498,000 *7% 1,855
308 XtXIEHHSOIA 105,183 73,387 31,796
10 B2 SUHUS3AHH A 105,183 73,387 31,796
O2-ttet AIAE 2EXd |X2el /S
13,581,000& 13,581
OAZ7 HEEHE HoEH RAE A 83,134
ANZT B23 SSIIEHAIAE
83,134,000 83,134
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A H

B DHELE £X
ool WXTH P (29l 8)
CEH B (BH) - NBAY - B2 o AF o San H D2
OANZF MaiE2AIAE SANES &S
1,468,000& 1,468
ONLHNZBENBAIALY HHIAHAZD 299
Et 7,000,000 7,000
Ara 2 33,340 35,294 N 1,954
201 Bt A | 28,933 26,533 2,400
01 At 22l Yl 8,530 6,130 2,400
OZelHd EY 190, 000& *2JH *x2CH 760
QUERZ ARE(EM IE2) 2,370
UTPAHI Ol = 120,000& =168+ A 1,920
=g 3,000 1504 450
O LEANMMIAEIX HiE 2 WA
150,000& =204 3,000
O&ital st2ets) ST MH A
2,400,000& = 1H 2,400
02 33249l 20,403 20,403 0
ONE3Hd AIS 20,403
HoAGHSOIA, BMstsa, SIEH L
78,4003 #3353 & x12& 10,023
FTeoAQE 35,000 x12& 420
TodEHBIE 300,000& x12& 3,600
FootcilsB T & 100,000& = 12& 1,200
eSS @AZAA 310,000& x12& 3,720
MMaNsE FA 120,000& = 12& 1,440
301 AP B A 4,407 8,761 ~4,354
0B MBI =ERLIEBAS 4,407 8,761 N4, 354
ONMMARE X 4,407
== 178,000 x1H x12& 2,136
=4 6,000 x1H*x222 x12& 1,584
- WSl 2,600 x1H*x22A x12& 687
A2 Mal=S2MH 2= 17,714 17,794 A 80
= 4,025
T4l 13,689
201 Bt A | 17,714 17,794 A 80
= 4,025
T4l 13,689
01 AFR2 2t 2l Yl 17,714 17,794 A 80
OANMZF MaiEx2MAH =5 2xs
17,714,000& 17,714
= 4,025
Tl 13,689
HHSIHH (HWAHSS) 107,760 88,202 19,558
Jl=3 bl 15,336 12,744 2,592
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M Bdstsn

HH: 23y (BMes)

e Jl=3l (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
Jl=23dHl 15,336 12,744 2,592

201 £et23E | 11,136 9,744 1,392
01 At 22l bl 11,136 9,744 1,392

ORN=2E =2l 5,760,000% 5,760

OFRAN=2g8 =S 5,376,000& 5,376
203 R =& 4,200 3,000 1,200
04 EN2SE 2T 4,200 3,000 1,200

ORN2gE =L 4,200,000% 4,200
olet 2 gl 92,424 75,458 16,966
g =gl 92,424 75,458 16,966
101 124 4] 92,424 75,458 16,966
02 It E = 92,424 75,458 16,966

OEMDSA LerdIIM(0tE)(1Y) 38,037

a3 28,875,000 28,875

A2 R 6,093& »32Al 2t* 12 2,340

oA ZG A 130,000& =122 1,560

HAOLE & Hl 2,406,250 *84%*86%+1/30«9L 522

- =L 20,000 x 122 128 2,880

= | 105,000& =123 1,260

s 50,000 128 600

OEMUSA AlZTHEHMAIIH(0IE)(1E) 31,388

as 21,656,250 21,657

A2 R 5,220 «30Al 2+ x 12 1,880

=R 130,000& ~12& 1,560

- AR A

1,804,687 2 x84%*86%+1/30%1/7*63 Al 2 392

- =L 20,0003 «122 +7/8Al 2t 12 2,520

S 2 X 105,000 *7/8Al 2t 12 1,108

22y 288 22,758,6903 *10% 2,276

OAtM ARSI MAIIM(0IE2) (1) 22,999

S s 14,069,000& 14,069

A2tel 228 3,950& *40Al 2t+12& 1,896

A g A 130,000& ~12& 1,560

- A2 Al

1,172,410 x84%*86%+1/30%1/6x72 Al 2 339

=L 20,0002 «122 +6/8Al 2t 12& 2,160

- A g2 105,000 *6/8Al 2t 12 945

It ESH 480

- X 40,000 x12& 480

ey 288 15,494,000 *10% 1,550
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